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1. According to Directorate-General of Budget, Accounting and Statistics, Executive
Vuan of Taiwan, the unemployment rate in May, 2014 is:
(A)3.05%;
(B)3.35%;
{C)3.85%:;
(D)4.45%;
(E) 5.05%.

2. Which of the following is an explanation for the existence of frictional
unemployment?
" (A)unions;
(B) efficiency wages;
(C) minimum-wage laws;
(D)job search; '
(E) collective bargaining.

3. Based on the same base year, the price index was 120 in the first year, 130 in the
second year, 138 in the third year and 135 in the fourth year. Which of the
following statements is correct? '
(A) the price level was higher in the second than in the first year, and it was higher
in the third year than in the second year;

(B) the inflation rate was positive between the first and second years, and it was
positive between the second and third years;

(C) the inflation rate was negative between the third and fourth years;

(D) the inflation rate was lower between the second and third years than it was
between the first and second years;

(E) all of the above are correct.

4. . If purchasing power parity holds, when a country’s central bank increases the
meoney supply, its '
(A)price level rises and its currency appreciates relative to other currencies-in the
world; ' '
(B) price level rises and its currency depreciates relative to other currencies in the
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world;
(C) price level falls and its currency appreciates relative to other currencies in the

world;
(D) price level falls and its currency depreciates relative to other currencies in the

world;

(E) price level falls and there is no change to its currency relative to other

currencies in the world.

. Other things the same, an increase in the Taiwanese real interest rate induces;

(A)Taiwanese to buy more foreign assets, which reduces Taiwanese net capitat

outflows;

(B) Taiwanese to buy more foreign assets, which increases Taiwanese net capital
outflows;

(C) foreigners fo buy more Taiwanese assets, which reduces Taiwanese net capital
outflows;

(D) foreigners to buy more Taiwanese assets, which increases Taiwanese net
capital outflows;

(E) no change on Taiwanese net capital outflows.

. Reserve requirements are regulations concerning
- (A)the interest rate at which banks can borrow from the central bank;

(B) the amount banks must hold again deposits;

(C) the amount banks are-allowed to borrow from the central bank;
(D)the number and type of loans banks make;

(E) the interest rate banks need to pay for deposits.

. Assume that the expected inflation rate equals the actual inflation rate, If the

nominal rate of interest equals 5% and the annual -growth rate of money supply
equals 3%, the annual growth rate of velocity of circulation is 2% and that the
annual growth rate of real GDP is 1%, then the expected real rate of interest
equals -
(A)5%

B)4%

(©3%

D)2%

B 1%

8. Suppose John’s income increases by 10 dollars today and he wants to smooth his
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lifetime consumptions, what will happen to his consumption and saving today?

(A)both today’s consumption and saving will increase and the increase in today’s
consumption will be less than 10 dollars;

(B)both today’s consumption and saving will decrease and the reduction in
today’s consumption will be less than 10 dollars;

(C) todays’ consumption will increase less than 10 dollars and today’s saving will
decrease;

*(D)todays’ consumption will decrease and today’s savings will increase more than

10 dollars;
(E) todays’ consumption will increase more than 10 dollars and today’s saving
will decrease;

Consider the Solow growth model with the production function:

Y, =AKS(HLY™" where ¥, isthe output, 4 is total factor productivity (TEP),

K, is physical capital, L, is labor with L | =(l+mi,, n>0and H is
human capital with H,,,=(+g)H,, g>0. Note that (H,L) represents the
effective labor. Assume that human capital does not depreciate, but physical
capital depreciates at the rate of- &, With the saving rate equal to s, what is the
steady-state value of capital per effective labor?
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®) (n+g+5) ’

®) n+g+5’J )

Following question 9, what is the growth rate of output per labor at thé steady
state?
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(A)s;
®B) g;
(©) n;

M) g+n; .
(E) s+mn.

11. Following question 9, what is the golden rule saving rate?
A a;
®) o;
© g
Dy n;

® (ijg.
@2

12. Using the production fimction in question 9, if both output and physical capital
grow at the same rate of ¢, then the growth rate of TFP equals
(A e{g~g)
®) (-a)p
(O (1-a)dgn
D) aggn
E) Q-aXg-g-n)
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